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QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are FOURTEEN questions divided in two Sections and printed both in HINDI and 
in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which 
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the 
space provided. No marks will be given for answers written in medium other than the 
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be 
clearly struck off.

GENERAL STUDIES (PAPER-IV)

Time Allowed : Three Hours Maximum Marks : 250
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3 tePiRg ^  #  i 3ttc fw - '5̂  ^  *fcn 3 3Tf*ra 11

Answer questions in NOT MORE than the word limit specified for each in the parenthesis. 
Content of the answer is more important than its length.

Tsprg— A / Section—A

1 . (a ) W q R o ffa  ^fcl=bcU’ TO TOT ^  f  ? 3 f«TTO  f ^ T  TO FT f  ? ^fcTTOTT ^

<|ffc 3 froft ^  ^  ^  (150 Ttt)

What is meant by ‘environmental ethics’? Why is it important to study? 
Discuss any one environmental issue from the viewpoint of environmental 
ethics. (150 words) 10

(b) RnfdRsici % ®fta "frfcR (200 :

Differentiate between the following (200 words) : 10

(i) 3?K }fd=MI 

Law and Ethics

(ii) r̂fcTSR 3 R S R  s f f t  ^ifd+dl TO T R E R

Ethical management and Management of ethics

(iii) 3fR atflmrit wn?

Discrimination and Preferential treatment

(iv) q̂frh«b }fa«bdl afa ^chdl

Personal ethics and Professional ethics

2. 3TTOFJ f̂ TT T]TT % I 3T̂ rm 3 3Iĉ f; %, ĉfaFT Wi'ti 3, 3TTC%
fcTQ; TOT f  :

Given are two quotations of moral thinkers/philosophers. For each of these,
bring out what it means to you in the present context :

(a) TOft -tm TO T̂TOt; SWI$f)ddl <ft cTTTÔR TO ^  |l”  ( 150 Tftt)

“The weak can never forgive; forgiveness is the attribute of the strong.”
(150 words) 10

(b) “ "FT ^  ^  TfN> TO 'STTOt f ,  Wt $  ^cTT t ;  *ftTO o ft 'f^STOT eft c l^ % ^T«f

^ ^  WTct f l ”  (150

“We can easily forgive a child who is afraid of the dark; the real tragedy of life 
is when men are afraid of the light.” (150 words) 10
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3. (a) ‘%°fFT 'til’JH 01)+ 3 ^  % 3J*!T̂ t HIcrH % Rm,,

f̂cf  ̂T$ W. TTqF ^^-^TfrS T̂ #TT *ft 3 i r « t l ” T̂T 3TR WTcT f? ^ l^ fl ^

$ RE ^tf^ , «f?f (i) ̂  f̂cRxT: ^  t, ^  ^  t  cf«n (ii) f?fq ^  ^7 3

TX$\ %, ^  r̂frf̂ cT: ^  ^ f  11 { 1 5 0 ^ )

“A mere compliance with law is not enough, the public servant also has to have 
a well-developed sensibility to ethical issues for effective discharge of duties.”
Do you agree? Explain with the help of two examples, where (i) an act is 
ethically right, but not legally and (ii) an act is legally right, but not ethically.
(150 words) 10

(b) f^WffacTT T̂fR-TTfrf) % ifol 3 W *  f̂tfcT ^  f  ? % T̂«t FT2

{ 1 5 0 ^ )

How do the virtues of trustworthiness and fortitude get manifested in public 
service? Explain with examples. (150 words) 10

4. (a) “ WRTf̂ fr 3TTf*fo ^  SFtSTT 3 #^  f

n? ̂  ^  ^ rc ;i ( 1 5 0

“Social values are more important than economic values.”

Discuss the above statement with examples in the context of inclusive growth 
of a nation. (150 words) 10

(b) "̂ TcT ^ ^5 TFrfcPff, ^  % iĴ RT >̂T 3̂ flf̂ K (3TTC° 3TTfo) Iftfe7TT 3?R —H|R|<̂

y ^ d i fr̂ rrf̂ , to m  % ^  3 3 #^  wf$fcn ^  r̂rf̂ RT ^  ^

Ff f^T WT f1 T3=F

-fFTfcI "f^RTR^ fcR^JI ^TTf  ̂1% W fg*fFR PH'MI ^
y'hdl f  I ^l^y, %  Ip H=hRlr̂ =b 3f*Trat ^  1^T TRFR ĵpcFft̂ cT *TT ■H'tifll  ̂I (150 3I«;)

Some recent developments such as introduction of RTI Act, media and judicial 
activism, etc., are proving helpful in bringing about greater transparency and 
accountability in the functioning of the government. However, it is also being 
observed that at times the mechanisms are misused. Another negative effect is 
that the officers are now afraid to take prompt decisions.

Analyze this situation in detail and suggest how this dichotomy can be 
resolved. Suggest how these negative impacts can be minimized. (1 50 words) 10
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5. eft  ̂ '̂ 1̂ 1 ^  % Tlfct ^  3W1-3TWT WTt ST^Rl^ ^

3Tf^% 3?R cilchdiBlch 3#ctf% % W1 3 ^  11

(^) ^  i\ ^  ^  3fR ^t% f̂t-ar̂ njafr ^  ■^wj.i

(i§) srcft ^ t^ i M ^ i ^ * t % cr TmRRt% ftrch % ^ ^ n  3 ^pR  wiftct^ tt

w t  %?

(150 sra)

Two different kinds of attitudes exhibited by public servants towards their work 
have been identified as the bureaucratic attitude and the democratic attitude.

(a) Distinguish between these two terms and write their merits and demerits,

(b) Is it possible to balance the two to create a better administration for the faster 
development of our country?

(150 words) 10

6„ 3t r  ^§c f |  %  3rrarc %  f t s j fa r ,  w 4> d i w r t , 3t r °

Tftf̂ TT 3?R î£l+ceil % 3I^R 3WTt % WTETR̂ f ^4

^  tl

(^>) Ip  ^ I^ H c n d l ^)7 3frf^[r^ «qc1lci ^

(l§) w  ^  y+Ndl 3?R 3 }^  wftfcRT ?̂TTp;i

(150 ?T5?)

Today we find that in spite of various measures like prescribing codes of conduct, 
setting up vigilence cells/commissions, RTI, active media and strengthening of legal 
mechanisms, corrupt practices are not coming under control.

(a) Evaluate the effectiveness of these measures with justifications.

(b) Suggest more effective strategies to tackle this menace.

(150 words) 10

7. 3FcKf$AI TTgt % W J, 3T̂T TTgf % 1%cft R̂̂ TR ^RT %

■ftfl TtfafcT ̂  f̂tfcT % IRT ‘pRfSRT ^  | I ^Rt TT?t % sftT cffR? ITtcf f  I 1$ cFTT̂ft %

W[*TH 3 r̂fcRS -f̂ TR 3RfiR ft w ti f? % ¥T«I ^  € tf^ l (150

At the international level, the bilateral relations between most nations are governed 
on the policy of promoting one’s own national interest without any regard for the 
interest of other nations. This leads to conflicts and tensions between the nations.
How can ethical consideration help resolve such tensions? Discuss with specific 
examples. (150 words) 10
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8. cfta ‘%r w f  (ĉ Pkrlct-i 3TTO ^  TO 3TT f̂RT t̂cTT 11 3TN ‘%T wrf’

^  3 T̂T WTSftt f  3?R ^  ^  % s[KT 3 %Ff 3fTOT ^ T  |? ^  3 ^  %T

■# IWrf 5̂7 it wr, cTf arrc smx fror w t  Rehi^? ^i6<uil % w i wg Ŝtfam (150?i®s)

Public servants are likely to confront with the issues of ‘Conflict of Interest’. What do 
you understand by the term ‘Conflict of Interest’ and how does it manifest in the 
decision making by public servants? If faced with the conflict of interest situation, 
how would you resolve it? Explain with the help of examples. (150 words) 10

— b  / Section—B

9 .  ^  f t * f t  TOFft 3 ^  w f t f c T T  3?R T O fo lf t  T O ^ 'R  %  iePJ f 1  T O tft TO ^RlfcT^ ^

r̂frfi t, cT«nfq W  ^TOftm STRFT t  ^  TOferft Wlfaccl eft W l  Wet 11 TOFft 3 
W R T  700 TOpfe) f  3?R m  1 TO 1^TT |  I

3T̂ fĤ  ^  f̂ T ^  HIcfT % 40 STT̂ ft ?RT^ft ^ ^  3TTQ; 3fR %3̂ t 3 iWO 'RFA

w \i w r  a?R to^ tM  swfron a?R infM  *ft <ffi to^ tM  to R̂faeT froi ft? arr 1%

^  # 1  ^  3TTC, st, cf TOFft %  3  # n  ^ t  «t 3?R *JTO t\ ̂  ^

^  TiFTT ^1 6 ^  ^  I

TOrft T̂RRlft % ^  W ^l efit -*m  Weft t  3?R Mktf 3RTRR, f^R$ TÔ T 3PTcfa arfW>T *ft T̂TfteT t,

TO TOtf 3 ^ J I?  TOcftl W  M  %  # 1  y i ^ P ) - *  3  *ft W r t  f l

(^) ?ftf^%  3TTq TÔ TOft 3#TOft (tft° fo affo) || 3TN T ^ t  *ltf % % 3^;

3n̂  3?k TOrft % f̂tcR tot ^  ^  cirtte ^t "ĝ rg l̂ rfcf %

TOtJt?

(^l) HlHcr) ^ f̂^c( ^  TO eOtTchl<rfl'i iFTT̂ TR P̂TT it T̂TOTI

(7|) Tfc^ ^TITO/TO^Tf TO, ■f̂ RT̂ t 3TH ^TT t̂, ®TR ^  (#o fo \̂o % xr), ^ iR q l ^  3?R 

% Pt̂ KH y+KlrH<+) afR HebR|rH<=b 'cf%TTT I 3 ^  R̂1 ^  TOf^ft ^ ^

Tfr^ % mRuIHI TO ^ tf^ l ( 2 5 0 ^ )

A private company is known for its efficiency, transparency and employee welfare.
The company though owned by a private individual has a cooperative character 
where employees feel a sense of ownership. The company employs nearly 
700 personnel and they have voluntarily decided not to form a union.

One day suddenly in the morning, about 40 men belonging to a political party gate­
crashed into the factory demanding jobs in the factory. They threatened the 
management and employees, and also used foul language. The employees feel 
demoralized. It was clear that those people who gate-crashed wanted to be on the 
payroll of the company as well as continue as the volunteers/members of the party.
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The company maintains high standards in integrity and does not extend favours to 
civil administration that also includes law enforcement agency. Such incidents 
occur in public sector also.

(a) Assume you are the CEO of the company. What would you do to diffuse the 
volatile situation on the date of gate-crashing with the violent mob sitting 
inside the company premises?

(b) What could be the long-term solution to the issue discussed in the case?

(c) Every solution/action that you suggest will have a positive and a negative 
impact on you (as CEO), the employees and the performance of the employees. 
Analyze the consequences of each of your suggested actions.

(250 words) 20

10. 3TN WRcT % f  I 3TN% Ufa 3 TOFR OT *fT ^  11

en̂  ^  iftcT) f̂ TT T̂cTT 11 t w  ^ 3R cfcTR ^  ^  W
ftp ; ^  ^rrfM % 3

3nqf ^  ^  ^  ^  11 w r a  M

W  ^ I  feRT-TTKT ^  ^  MH ^  3fft ^WTFR W f  ^

sftr wre ^ ^  ^

C$) fff TR 3Tk TJcj !̂sR 'cfrdlcKul sRft (U|41fr|iil € tf^ l

0*3) ^  ^ c f t l  ^  ̂  %  fcTO; ¥=hT<lfH* M f e  ^ 0 3  c||d|cKUi s ^ f t  fsrf

3fR srfwuft % #  ^ # t?

(250 *1=5)

You are the Sarpanch of a Panchayat. There is a primary school run by the 
government in your area. Midday meals are provided to the children attending the 
school. The Headmaster has now appointed a new cook in the school to prepare the 
meals. However, when it is found that the cook is from Dalit community, almost 
half of the children belonging to higher castes are not allowed to take meals by their 
parents. Consequently the attendance in the school falls sharply. This could result 
in the possibility of discontinuation of midday meal scheme, thereafter of teaching 
staff and subsequent closing down the school.

(a) Discuss some feasible strategies to overcome the conflict and to create right 
ambience.

(b) What should be the responsibilities of different social segments and agencies to 
create positive social ambience for accepting such changes?

(250 words) 20
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11. -srgg f a f e  ^  ^  3PfmTMT 3 ^Ffcr TT5R %T̂ ef5 }  ^RT ■% wrf\ •#

M t  #  T̂eft M^R>rHcR  ̂^T^rt 3 3 ^1$ B 3 ^TR  3 SWT̂ I TFT, ^  ^RTcfta

^ ĥcrll ^3ff fcTH t̂)<̂  #HI°i|c1l  ̂I H<(J HM=J1 % fd^ T̂RTC 1̂ ftcbiy % fcTQ|

f̂ipl 3?R -f^W ■# ?IW  «ft, f̂ ET̂  50 cR; T̂ 3TT '?^T ZfT I ŜTFRT ^

sft 1% Wrf\ Wrf\ eTFRT ^  ^?T ^  W ft ^  %=T?f MndWW &  3 %̂ T |3ff 8TT, W R  
^cT sfrsi 2TTI

^  3TR #o fo 3Tfo î Rt, (ft—

(^) 1*R fefrw ^ itw il ^  3M -WZ 2*, ^5fR 

(l§) 3 ^  3fr^ % ^ - fs m  i^HH

(250 ^ )

One of the scientists working in the R & D laboratory of a major pharmaceutical 
company discovers that one of the company’s best selling veterinary drugs, B has 
the potential to cure a currently incurable liver disease that is prevalent in tribal 
areas. However, developing a variant of the drug suitable for human beings entailed 
a lot of research and development having a huge expenditure to the extent of 
f  50 crores. It was unlikely that the company would recover the costs as the disease 
was rampant only in poverty-stricken area having very little market otherwise.

If you were the CEO, then—

(a) identify the various actions that you could take;

(b) evaluate the pros and cons of each of your actions.

(250 words) 20

1 2 .  3 1 N 3 1 -W T I ,  3}qRTC «£33^R , W H e l ,  f a  ^l«hf£l=b «1TS 3 fft  3 T[ft 3TTct

f  I ^  3 TfRTlft f  3?R 3R^fa f  I 3TTOT5R T̂ ftlTFT 3Wc<JlRld ^T1 11 ^  %
f l T R ,  f a  f o F f f c  %  f c R T W f t  3 fR  ^ d H  3 T ? q fq ^  f ’f c r p ?  f f  I 3?K

M  ^  pq. a# i 100000
3?R S R T  - fr fa v f TTFff 3?R W. ^ 1  %  3TN %  f f o  3  ^  ^  # r f t  3

q f t g  HHll\«h, 3 T O l c f i  ^  ^ 5 T ,  T T W R  3?R W i l l ,  W m  TTT f̂ %

^rf%cT, IFHT %  S f M r f i  ^  3?R ^  M  ? T T i^  $  I

IRE} % TT̂  far % cfR ^  3T1W 3TÎ T ^1 #H 1^3 3TR 3?R q̂t?

3tR % ^  ^ (200 1̂®?)

There is a disaster-prone State having frequent landslides, forest fires, cloudbursts, 
flash floods and earthquakes, etc. Some of these are seasonal and often 
unpredictable. The magnitude of the disaster is always unanticipated. During one of
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the seasons, a cloudburst caused devastating floods and landslides leading to high 
casualties. There was major damage to infrastructure like roads, bridges and power 
generating units. This led to more than 100000 pilgrims, tourists and other locals 
trapped across different routes and locations. The people trapped in your area of 
responsibility included senior citizens, patients in hospitals, women and children, 
hikers, tourists, ruling party’s regional president along with his family, additional 
chief secretary of the neighbouring State and prisoners in jail.

As a civil services officer of the State, what would be the order in which you would 
rescue these people and why? Give justifications. (200 words)

13. 3TFT fsWFT 3 f^TT W iH  % 11 3TTWT 3^? 3 ^

3 ff t  3 T T ^  ^ T T  |  -f% i m y  TTfa 3  ^  ^  ^  ^  ^  - M n r  11

33W-?ft R̂T T̂Tcfr I  T̂3% ^  Bfftl cll̂ ehK % 3T2J T O  =PT ^3 ^TTI

W d T  I  %  3TN 3 3 $  3 # 7 c T  3 * f t  W i  W N  W  3  ^  ^  ̂  3f^cT

$  ^  11 3TR 3 3  TfiTfeT ^  f ,  ^  3TR% 3  3 # > T R  3 *T W ^  $  ^  ^  f 1  ^  W f f a

W R  $, W 1R  cTFRT W, <SHlf̂ d Î TT WU 3?K WMIcT r̂fct % %  i^R cfft TTrfwM

iq̂ Tbdi w w  ^ n # n | , s^rfrr w r o  3 ^ 9  11 wrgf^ ^
M T O  3  3 q ^ £ f  f  | 3TFf ^

^  ^  ^BT ftu fa  ^  3ct f  I 3TN  ^  f  cR 3TN  ^  f  %  3 ^ 3  %  3T« f^

3TfFT̂  ^  *TFl t  3fR #5^, 'Wffc 3Tlfe 33% STR-TO 1̂ # ^  f  I %cTf Tjfc ^ 7£[cft

I, f3fcre ^  srsft % -f^; iWft t̂r % % f^crn «ti

zmtftv -qfm 3 ^  3 ^ n  11 $ ^ t r  tr fe ro  aft I^rrr
^  ^  3ft f^n w  11tr§ 3tr%

9-n I 3 iRcT ^ p } - i w i  ^ 5  %  3T«T ^  H f  I

(^) 3fR^ cJT̂t % 3̂ Tf T̂ I T̂8?f €l n̂fTj; I

(TS) -3TN3?[ 3^ T® tT %  ^ 5  ^  ^  f  I %  Tjcrft- ^  c^ f^ li :

(i) 3TPT ^  TR ft^T 'ER 3 3 ^  |  3 fR  3 3 3 ^  ^  f  I

(ii) 3?N f^ fe c T $  T̂T XR 3 3 ^  3eTT? 3  3 3 ^  f  I

(in) 3 TR  3T ^  «=t>cl f  3 fR 3 3 % '^ R '^ TT '5 F5 ^ n :| , f 3 ^ T d  =R % 3 c TI3 R

3̂ irt f  I

(iv) 3TTR HIcJH 3 ^ f  %  ^ TT  'Q°^T$  ^ 3 3  ^ 3 5  3fTR f^ T T  3 ^ c T T f  3 fR  ^  3 ^ 3 3 1 ^ f t

fdfed 3 3 ^ f I

"WT 3TN <̂|| 3 ^  csF̂cl cT̂ f % 3T2r f?

(250 71 )̂
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You are heading a district administration in a particular department. Your senior 

officer calls you from the State Headquarters and tells you that a plot in Rampur 

village is to have a building constructed on it for a school. A visit is scheduled 

during which he will visit the site along with the chief engineer and the senior 

architect. He wants you to check out all the papers relating to it and to ensure that 

the visit is properly arranged. You examine the file which relates to the period before 

you joined the department. The land was acquired from the local Panchayat at a 

nominal cost and the papers show that clearance certificates are available from the 

two of the three authorities who have to certify the site’s suitability. There is no 

certification by the architect available on file. You decide to visit Rampur to ensure 

that all is in order as stated on file. When you visit Rampur, you find that the plot 

under reference is part of Thakurgarh Fort and that the walls, ramparts, etc., are 

running across it. The fort is well away from the main village, therefore a school here 

will be a serious inconvenience for the children. However, the area near the village 

has potential to expand into a larger residential area. The development charges on 

the existing plot, at the fort, will be very high and the question of heritage site has 

not been addressed. Moreover, the Sarpanch, at the time of acquisition of the land, 

was a relative of your predecessor. The whole transaction appears to have been 

done with some vested interest.

(a) List the likely vested interests of the concerned parties.

(b) Some of the options for action available to you are listed below. Discuss the
merits and demerits of each of the options :

(i) You can await the visit of the superior officer and let him take a decision.

(ii) You can seek his advice in writing or on phone.

(iii) You can consult your predecessor/colleagues, etc., and then decide what 
to do.

(iv) You can find out if any alternate plot can be got in exchange and then 
send a comprehensive written report.

Can you suggest any other option with proper justification?

(250 words) 25
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14. 3 srrĉ Ft ^  fwrt % fifcn fd'-fro % fffc r̂c frgrj; f^n w  11 ^41 ft 3tpt% wn

3}N^ 1 ^  % UPft”! IcTFfit 3 d^Rwt ^t ^  ^  ^  cHR %l

tj i^  %  ^  RIRJJt ^ T r t  f  i%  3T^> ^FTFTTC; f t  ^  f  Ct41f4> d-sf+41 ^ t  H<?WI ^  T?T f  3?TC ^  '^R %>

^ f% cT ofTrlT^OT %  VS  i f t  f  I f^ fTC  ^  f  %  d s fV i)  =£t ^HcIH %8ffT %  *tT«T ^ r41 $

^ t  t̂ ^Ht T̂%3; I f w  % ^R efgf̂ TT ^tMt % 1<rR f̂t Wgtf Tft f ,  WTU $ T̂ 3FPT 

fjfa TFT t, 3fR ^Wt 3 ôPTTfl 3 "dfa f̂t f  I

f̂T tM  W t  f  % ^  3, d̂ Ph'41 3Tt f w  3fR tWTK rim % 3RT irmt %
fTH 3ToRTC "JTTH fft  n̂fftr | ^hw ^dl l̂ °Rft^t 3fK '£pi3Tt % cRTT 3 ^  3TFt <ilHl xftf̂ Tt *f ^t-JWt 

% fapnfacT fl1 3TTWt WT ÊfeTcTT f  % W^cT T̂ 3 ^  *sn#t 3 T̂T ^<T f̂tTTft ^  ’ft, ^

''R 'KHI'KH ft TFT 11

^  fc? 3TTq̂  ^RT fRdrft f  f% ^  3#q ^  11 <f*5 d^fVll % T̂8I ik w ft ^  ^  ^ ^ f t

% TFRt 3 $ff I w  % W W ?  ^  w n f^  Wl| sfR F̂F£T cT?n ^t W?T
^T ft Rll "WTFTCT 'STR-f̂ TR %  ̂ d^Ph’̂ l ^t ^ d  '5TT̂ ^t 3^rfcf R ^  3fft ^t mRc(K

T̂ •qTeR Rff ^  f ,  ^t V'ift Rtent 1̂ RIHlf̂ =H <mF%MoK ^  T̂ ^  fcWI I

(■̂ ) ?rgfeft "̂ t f?T  ̂ ^ ftni, cTffert ^  ?̂f <+)<•) % fdy, 3tr ^n

(m) ^  ^R«ft 4 W^RTI ^Rt^d ^  % fd^ 3TN TfR % o|4t̂ l ^t %c!WT^ 3Tf̂ rffrT T̂
3R)K cfiT 3?K (SM-̂ I 1̂ ^l4 <̂ J"t?

(250 3T«0

You are recently posted as district development officer of a district. Shortly 
thereafter you found that there is considerable tension in the rural areas of your 
district on the issue of sending girls to schools.

The elders of the village feel that many problems have come up because girls are 
being educated and they are stepping out of the safe environment of the household. 
They are of the view that the girls should be quickly married off with minimum 
education. The girls are also competing for jobs after education, which have 
traditionally remained in boys’ exclusive domain, adding to unemployment amongst 
male population.

The younger generation feels that in the present era, girls should have equal 
opportunities for education and employment, and other means of livelihood. The 
entire locality is divided between the elders and the younger lot and further 
sub-divided between sexes in both generations. You come to know that in 
Panchayat or in other local bodies or even in busy crossroads, the issue is being 
acrimoniously debated.

&e0$-0-ss<z)% /52 10



One day you are informed that an unpleasant incident has taken place. Some girls 
were molested, when they were en route to schools. The incident led to clashes 
between several groups and a law and order problem has arisen. The elders after 
heated discussion have taken a joint decision not to allow girls to go to school and to 
socially boycott all such families, which do not follow their dictate.

(a) What steps would you take to ensure girls’ safety without disrupting their 
education?

(b) How would you manage and mould patriarchic attitude of the village elders to 
ensure harmony in the inter-generational relations?

(250 words) 25

★ ★ ★
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